Date Commission Expires:

### KANSAS CORPORATION COMMISSION **OIL & GAS CONSERVATION DIVISION**

### **WELL COMPLETION FORM** WELL HISTORY - DESCRIPTION OF WELL & LEASE

D. 21-09	
Form ACO-	ı
September 1999	Э
Form Must Be Type	

, WELL HISTORY - DESCRIP	THON OF WELL & LEASE
Operator: License # 3882	API No. 15 - <u>15-159-22510-0000</u>
Name: SAMUEL GARY JR. & ASSOCIATES, INC.	County: RICE
Address: 1670 BROADWAY, SUITE 3300	SW SW NWSec24 _ Twp18S. R10
City/State/Zip: DENVER, CO 80202-4838	feet from NORT Line of Section
Purchaser: GARY-WILLIAMS ENERGY CORPORATION	feet from WEST Line of Section
Operator Contact Person: TOM FERTAL	Footages Calculated from Nearest Outside Section Corner:
Phone: (303) 831-4673	(circle one) NE SE (NW) SW
Contractor: Name: EXCELL SERVICES INC.	Lease Name: ROELFS Well #:1-24
License: 8273	Field Name: WILDCAT
Wellsite Geologist: JUSTIN CARTER CONFIDENTIAL	Producing Formation: ARBUCKLE
Designate Type of Completion:	Elevation: Ground: 1747' Kelly Bushing: 1753'
X New Well Re-Entry Workover	Total Depth: 3350' Plug Back Total Depth: 3301'
XOilSWDSIOWTemp Abd.	Amount of Surface Pipe Set and Cemented at Feet
Gas ENHR SIGW	Multiple State Cementing Collar Used? ☐ Yes ☐ No
Dry Other (Core, WSW, Expl., Cathodic, etc)	If yes, show depth set Feet
If Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from
Operator:	feet depth to w/ sx cmt.
Well Name:	
Original Comp. Date: Original Total Depth:	Drilling Fluid Management Plan A/LTNH 9-25-08
Deepening Re-perf Conv. to Enhr./SWD	(Data must be collected from the Reserve Pit)
Plug Back Plug Back Total Depth	Chloride content ppm Fluid volume bbls
Commingled Docket No	Dewatering method used
Dual Completion Docket No	Location of fluid disposal if hauled offsite:
Other (SWD or Enhr.?) Docket No	Operator Name:
	Lease Name: License No.:
10/16/2006         10/22/2006         11/17/2006           Spud Date or         Date Reached TD         Completion Date or	Quarter Sec. Twp. S. R. East West
Recompletion Date  Bate Reachied 15  Completion Date of Recompletion Date	County: Docket No.:
Kansas 67202, within 120 days of the spud date, recompletion, workove Information on side two of this form will be held confidential for a period of	th the Kansas Corporation Commission, 130 South Market-Room 2078, Wichita, er or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. 12 months if requested in writing and submitted with the form (see rule 82-3-and geologist well report shall be attached with this form. ALL CEMENTING ibmit CP-111 form with all temporarily abandoned wells.
All requirements of the statutes, rules and regulations promulgated to regulate herein are complete and correct to the best of my knowledge.	e the oil and gas industry have been fully complied with and the statements
Signature: Momas & Fertal	KCC Office Use ONLY  Letter of Confidentiality Attached
Title: SR. GEOLOGIST Date: 2/1/2007	If Denied, Yes □ Date:
Subscribed and sworn to before me this 1 ST day of FEBRUAR	Wireline Log Received
2007	Geologist Report Received
$M_{1}M_{1}M_{1}M_{1}M_{1}M_{1}M_{2}M_{1}M_{2}M_{1}M_{2}M_{2}M_{2}M_{2}M_{2}M_{2}M_{2}M_{2$	RECEIVED
Notary Public:	UIC Distribution KANSAS CORPORATION COMMISSION

Commission Explies MAY 9, 2009

CONSERVATION DIVISION WICHITA, KS

KANSAS CORPORATION COMMISSION

FEB 0 2 2007

Operator Name:	SAMUEL GA	RY JR & ASSC	CIATES, IN	IC.	Leas	e Name:	ROE	LFS		Well #: _	1-24	
Sec	Twp18	S. R10	D E	ast 🛭 West	Cour	nty:	RICE					
INSTRUCTIONS: tool open and close and flow rates if ga Attach final geologi	ed, flowing an s to surface to	d shut-in pressure est, along with fin	es, whether s	shut-in pressu	re reached st	atic level, hy	/drosta	atic pressur	es, bottom hole to	emperature, fl	uid recovery,	
Drill Stem Tests Ta (Attach Additio		⊠ Yes			⊠ Log	F	ormat	ion (Top), [	Depth and Datum		☐ Sample	
Sample Sent to Ge	ological Surv	ey 🛚 Yes		lo N	Name TOPEKA					Гор 2505'	Datum -752'	
Cores Taken		☐ Yes	⊠ N	lo	HEEBNER DOUGLAS BRN LIME		1/	CC		2772' 2801' 2895'	-1019' -1048' -1142'	
Electric Log Run (Submit Copy)			□ <i>N</i>	lo	LANSING ARBUCKLE TD	F	EB	CC 0 1 200 IDENT	7 7 <b>.</b>	2918' 3250' 3350'	-1142 -1165' -1497'	
	DENS SONIC MICRO					CO	NF	IDEN	ILIE			
			ASING REC		⊠ New	⊠ Used						
	Size Hole		all strings se Weight	et - conductor, Setting	1		roduct	ion, etc. # Sacks				
Purpose of string	Drilled	Set (in O.D.)	Lbs./Ft.	Depth		Type of # Sacks Dement Used			Туре	Additives		
SURFACE	12-1/4"	8-5/8"	28	348'	60A/40 POZ			225	2% GEL & 3% CC			
PRODUCTION	7-7/8"	5-1/2"	15.5	3345'	60/40 POZ CLASS AA2				5#/SK GILSON	5#/SK GILSONITE, 1/4#/SK CELLFLAKE		
			ΔΓ	DITIONAL CE	EMENTING/9	OUEEZE RI	ECOE	8D				
Purpose:	***	Depth			of Cement	OCCLEE TO		acks Used	Type	and Percent	Additives	
Perforate Protect Ca Plug Back Plug Off Zo	TD	Top Botton	m	Туро	, comon		# Oc	2010 0000	Турс			
	DER	ORATION REC	DRD — Brida	a Pluge Sat/Tu	vne l		Δ,	cid Eractur	e, Shot, Cement,	Squeeze Bec	ord	
Shots per Foot		pecify Footage o			уре				d of Material Use	= -	Depth	
4 JSPF	3253-55, 325	58-62, 3264-67				250 GALS 2	28% D	OUBLE FE	· ·		3253 - 67 OA	
						· · · · · · · · · · · · · · · · · · ·			KAN	REC	EIVED <del>(ATION COMM</del> ISSIO	
										FEB	2 2007	
TUBING RECORD		Size 2-3/8"	Set At		cker At	Liner Run		Yes	⊠ No		ATION DIVISION MITM, KS	
Date of First, Resu		on, SWD or Enhr	Produc	cing Method			E-7					
Estimated Producti Per 24 Hours	11/17/06 ion	Oil Bbls	s. Ga	s Mcf	<del></del>	Flowing er Bbls	<u>⊠</u> s.	Pumping Ga	☐ Gas Lift as-Oil Ratio	: Ot	her <i>(Explain)</i> Gravity	
1 61 24 170ulS		25		0		0						
Disposition of Gas	_	_			METHOD OF	_					Production Interval	
☐ Vented ☐ If vented, subr	Sold nit ACO-18.)	Used on L	ease	☐ Open	n Hole   [ r <i>(Specify)</i>	⊠ Perf.		Oually Comp	o. 🗆 Comm	ningled	3253 - 67 OA	
				_ <del>-</del>				-				

**SALES OFFICE:** 

100 S. Main Suite #607 Wichita, Ks. 67202 316-262-3699 316-262-5799 FAX **SALES & SERVICE OFFICE:** 

10244 NE. Hwy 61 P.O. Box 8613 Pratt, Ks. 67124-8613 620-672-1201 620-672-5383 FAX

**SALES & SERVICE OFFICE:** 1700 S. Country Estates Rd.

P.O. Box 129 Liberal, Ks. 67905-0129 620-624-2277 620-624-2280 FAX

## Invoice

						VO00					
Bill	to: 7	7740000 Invo			oice Date	Order	Station				
	Samuel Gary Jr. & Associates		610164	1	0/22/06	15223	Pratt				
	1670 Broadway Suite 3300					Description	_				
EC	CO 80202-4838					ment					
	offers at an entire frame.			Lease Roelfs		Wel	31				
OCT 2	2 A 2006			AFE		1-24 PO					
	0.4.5% (15)			nr E		PO	Terms Net 30				
	CustomerRep				$Tr\epsilon$	ater	Net 30				
	Chuck Emerson					Drake					
ID.	<u>Description</u>			UOM	Quantity	Unit Price	Price				
D205	AA2 (COMMON)		•	SK	100	\$15.90	\$1,590.00 (T				
D203	60/40 POZ (COMMON)			SK	50	\$10.30	\$515.00 (T				
C194	CELLFLAKE	vcC-		LB	26	\$3.70	\$96.20 (T				
2195	FLA-322	1 200	M	LB	76	\$7.50	\$570.00 (T				
221	SALT (Fine)			GAL	470	\$0.25	\$117.50 (T				
C243	DEFOAMER	MEIDEN	111000	LB	24	\$3.45	\$82.80 (T				
244	CEMENT FRICTION REDUCER	KCC BOIZEN		LB	29	\$6.00	\$174.00 (T)				
2321	GILSONITE			LB	499	\$0.67	\$334.33 (T)				
2141	CC-1, KCL SUBSTITUTE			GAL	7	\$44.00	\$308.00 (T)				
304	SUPER FLUSH II			GAL	1000	\$1.53	\$1,530.00 (T)				
101	TURBOLIZER, 5 1/2"			EA	6	\$74.20	\$445.20 (T)				
121	BASKET, 5 1/2"			EA	2	\$237.50	\$475.00 (T)				
171	LATCH DOWN PLUG & BAFFLE, 5 1/2"			EA	1	\$250.00	\$250.00 (T)				
211	AUTO FILL FLOAT SHOE, 5 1/2"			EA	1	\$320.00	\$320.00 (T)				
131 100	STOP COLLAR, 5 1/2"			EA	3	\$25.00	\$75.00 (T)				
100	HEAVY VEHICLE MILEAGE - 1 WAY			MI	130	\$5.00	\$650.00				
101	CAR, PICKUP OR VAN MILEAGE - 1 WAY			MI	65	\$3.00	\$195.00				
104	PROPPANT / BULK DELIV SERVICES/TON M	/IILE, \$200	MIN	TM	445	\$1.60	\$712.00				
207	CEMENT SERVICE CHARGE			SK	150	\$1.50	\$225.00				
701	CASING CEMENT PUMPER, 3001-3500' 1ST 4	HRS ON L	OC	EA	1	\$1,596.00	\$1,596.00				
701	CEMENT HEAD RENTAL			EA	1	\$250.00	\$250.00				

MDRLG COMP WO LOE AFE#96007 ACCT# /35/60 APPROVED BY SKD 10/27/06

DERRICK CHARGE, ABOVE 10'

**FUEL SURCHARGE** 

R404

S100

FEB 0 2 2007

RECEIVED KANSAS CORPORATION COMMISSION

> CONSERVATION DIVISION WICHITA, KS

Discount:

Sub Total:

\$10,874.03 \$1,721.43

\$250.00

\$250.00

\$113.00

Discount Sub Total: Rice County & State Tax Rate: 6.30%

1

\$9,152.60

(T) Taxable Item

EΑ

Taxes: Total:

\$250.00

\$250.00

\$113.00

\$364.98 \$9,517.58

PLEASE REMIT TO Acid Services, LLC, Dept No 1131, Tulsa, OK 74182

$\overline{}$	2 <b>7</b> 5			Subject to	o Correction	FIELD OF	ORDER 15223				
	2 2000	SERVI	INC.	Lease Roelfs		Well # /-24	Legal 24	185-10w			
Date 10-	22-06	Customer ID		County		State KS.	Station	c #			
c Sun	n bury	Jr. TA	ssociates	Depth	Formation	1	Shoe Joint 30	08			
A		<u> </u>		Casing 51/2	3349	3350	Job Type 51/2	L.S. N.W,			
G E				Customer Represen	tative KENSTON	Treater	Bobby D.				
AFE Number		PO Number	·	Materials 🗸	X	7 7					
Station	Product	QUANTITY		Received by		rul	<del></del>	Τ			
Code	1205	IDDsK.	AA2	MATERIALS, EQUIPA	MENT and SERVICES US	ED	UNIT PRICE	AMOUNT			
0	0203	50 sk.	100/40 PC	7							
<b></b>	- www	JU3K.	100/40 10	02							
P	6194	2616.	Cellflak	y <sub>o</sub>							
P	6196	7616	FLA-3		· · · · · · · · · · · · · · · · · · ·		<del> </del>				
P	(221	47016	Salt (F					:			
P	C243	2416.	Detamo			······································	<del>KCC</del>				
P	6244	2916,		HICHUN K	Pedice A	FE	B U   2007				
P	1321	499 15.	Gilsonste		LUACEN	CON	FIDENTIA	\L			
0	11110	00	100								
0	C 141	Tipol	1 0	' / 77	<del></del>		<del> </del>				
ρ	F101	1,000		uch II			<u> </u>				
ρ	F121	2 ea.	// . /	- 51/2"							
ρ	FMI	100	I.L. latch		+ Raff he , 51	1.11					
ρ	F211	100.		Float Sho		2					
O	F131	3eu	Stone Call	Par, 5 1/2 11	e, 5/2						
			212/1 0-11	4,0,0				<del></del>			
ρ	E700	130ms.	Heavy 1	lelucle Mi	Venne			<del>-</del>			
ρ	E701	bosmi.	Pickup 1		reage						
ρ	E704	445 hm.	Bulk Dell								
ρ	6707	150 sk.	<i>ii</i> .	/	heror						
ρ	R207	leu.	<i>A</i> 0	4	101'-3500'	KANSAS	RECEIVED	- <del>- 1</del>			
ρ	1701	Ica.		bad fente			RPORATION CO	MMISSION			
P	2404	lea.	Dellick	Charge			1				
						CONS	RVATION DIVISI WICHITA, KS	ON:			
							4.	<del> </del>			
				$\Delta n$	countred	Price - 4	9039.60				
10244 NE	Hiway 61	PO Boy 961	2 a Drott VC CZ	104 0010 - (000)	670 4004						
	- Inway 01 0	DUX 001	5 - Frall, NS 6/	124-8613 • (620)	672-1201 • Fax (62	0) 672-5383	TOTAL				



# TREATMENT REPORT

Customer	am G	ary	I.	<u> </u>	Lease No					Date						
Lease	Poets	/			Well #		1-1	4				) <sub>~</sub>	06			
Field Order	# Statio	on	Pat	4	Casing 51/2 Depth						County Rice State					
Tyne Joh		2.5		,	Wel	11		Formation	on	L			escription	14-185-10		
PIP	E DATA			FORATIN						TREATMENT RESUME						
Casing Size	Tubing S	ize	Shots/F	t	L. C. Acto 2554. 601					RATE		PRESS ISIP				
Depth 55/	Depth		From	To		Pre Pa		<u> []40 f0 Z</u> 1	Max				KCC	7		
Volume	Volume		From	-13		Pad-		112	Min		•	FI	Bornia. 2	007		
Max Press	Max Pre	ss	From	To	<del></del>	Frac		6 F43	Avg			CON	FIDEN	ITIAI		
Well Connecti	on Annulus	Vol.	From	To		<del> </del>	_/ <u>//</u>	<i>01/</i>	HHP Us	sed			Annulus F	ressure		
Plug Depth	9 Packer D		From	To		Flush	19	eh)	Gas Vo	lume			Total Load	1		
Customer Re	presentative	hue	//	merson	Station	Manage	er Do	ve Sico	#	Trea	iter /	ih.	Dake			
Service Units	123		76-	34750				. 720				and the second	1			
Driver Names	Diske	Ani	Hory	Bales												
Time	Casing Pressure	Pre	ubing/ essure	Bbls. P	umped	Ra	te				Servic	e Log				
0600	· · · · · ·	_						On G	nati	m -	- <i>Sa</i>	fehr	Mar to	Ina		
0730		<u> </u>						Run 1	4. 81	it's of	2 5/2	x15.	s#			
1230		<u> </u>						154.	n bo	Hom						
1245		<u> </u>					,	Hook	up 4	o leg	/	Beck	Bie	. w/kru		
1358	150				5	4.	.5	HOD	Mea	1						
1400	200	_		24		_4.	5	Super	Flush	I						
1410	150					4.	5	HO.	Space	. ~						
1411	150	<u> </u>		10		4.	5	MXL	and g	tmes	7/	0/1	1.00	cal		
1415	200			_30	>	4.5	5	Mix J	all.	sorca	to	15.	1st ga	e		
1425								leleas	e Plu	g -1	1/ca	- H	unp	Hlines		
1427	200					7.3		Start	Die	,			•			
1435	500			6		5.0	2	1144	Press	sure			-			
1440	1500			79	<b>'</b>	<del>-</del>		Plug 1	Dun			<del>,</del>				
1445	<del></del>							llug k	at	4/16	usi	Hol	10			
								ficen	latio.	1/	ru	Job				
								Job.	Comp	late		<del></del>				
								77.	te la	216			RECE	IVED		
									<b>ノザ</b>			- KANSAS	FEB ()	TION COMMISSION		
				<del></del>				<del></del>				e		ON DIVISION		
				<del></del> -									MICHI	A, KS		
10244	NE Hiw	av f	 	O Box	8612	Dratt	KC 6	7124 96	10 - /00	0) 670	1001		/000			
		~			-0010	rall,	KO O	124-00	13 (62	U) 6/2	-1201	rax	(620) 6	72-5383		



SALES OFFICE:

100 S. Main Suite #607 Wichita, Ks. 67202 316-262-3699 316-262-5799 FAX

#### **SALES & SERVICE OFFICE:**

10244 NE. Hwy 61 P.O. Box 8613 Pratt, Ks. 67124-8613 620-672-1201 620-672-5383 FAX

**SALES & SERVICE OFFICE:** 1700 S. Country Estates Rd. P.O. Box 129 Liberal, Ks. 67905-0129 620-624-2277 620-624-2280 FAX

Invoice

Bill	7740000 7740000	Invoice	Inv	oice Date	Order	Station				
	Samuel Gary Jr. & Associates	610122	_	0/17/06	15220	Pratt				
1	1670 Broadway Suite 3300			Service D	escription	11411				
	Denver, CO 80202-4838		Cement							
	KCC FEB 0 1 2007		Lease Roelfs	Well 1-24	Well Typ New We					
	FEB 0 1 2007		AFE		PO	Terms				
	CustomerRep			Trea	ter	Net 30				
L C				Bobby	Drake					
<u>ID.</u> D203	Description 60/40 POZ (GOV PLOVE)	<u></u>	J <u>OM</u>	Quantity	Unit Price	Price				
C310	60/40 POZ (COMMON) CALCIUM CHLORIDE		SK	225	\$10.30	\$2,317.50 (T				
C194	CELLFLAKE		LBS	582	\$1.00	\$582.00 (T				
F163			LB	55	\$3.70	\$203.50 (T				
E100	WOODEN CEMENT PLUG, 8 5/8" HEAVY VEHICLE MILEAGE - 1 WAY		EA	1	\$88.90	\$88.90 (T				
E101			Mi	130	\$5.00	\$650.00				
E104	CAR, PICKUP OR VAN MILEAGE - 1 WAY		MI	65	\$3.00	\$195.00				
E107	PROPPANT / BULK DELIV SERVICES/TON MILE, \$200 CEMENT SERVICE CHARGE	) MIN	TM	631	\$1.60	\$1,009.60				
R201			SK	225	\$1.50	\$337.50				
R701	CASING CEMENT PUMPER, 301-500' 1ST 4 HRS ON LC	OC.	EA	1	\$924.00	\$924.00				
S100	CEMENT HEAD RENTAL		EA	1	\$250.00	\$250.00				
	FUEL SURCHARGE			1	\$68.85	\$68.85				

Sub Total:

\$6,626.85

Discount:

\$1,049.95

Discount Sub Total: Rice County & State Tax Rate: 6.30%

\$5,576.90

Taxes:

\$169.23

(T) Taxable Item

Total:

\$5,746.13

# DRLG | COMP | W/O | LOE AFE # Roc/fz #1-24 96007 ACCT# 135/60 APPROVED BY SRE

RECEIVED

OCT 20 2006

SAMUEL GARY JR. & ASSOCIATES, INC.

	Jets Vergy		<b>3</b>	Subject (	to Correction	FIELD	OR	DER '	15220
		<del></del>	TNC.	Lease Cy>/	75	Well # /- 24			185-10W
Date	10-17-06	1		County Ric	e	State // 5		Station P	a. #
C H —	Sum Gary	J1. 4A	ssociates	Depth	Formation		s	ihoe Joint	15
A R				Casing 85/8	Casing Depth	TO 357	J.	ob Jype	P. New Well
G E	·			Customer Represe	ntative	Treate		bby On	
AFE Nu	ımber	PO Number	•	Materials 🗸		100			
Sta	tion Product	QUANTITY	T	Received by X	The	Ofe	<u> </u>	<del>/</del>	
$-\frac{co}{\rho}$	0203	2255K.	60/40 8		MENT, and SERVICES	USER		UNIT PRICE	AMOUNT
		JAN JK	60/901	02					
F	C310	58216,	Calelin	Chloride					
$\overline{\rho}$	(194	551bi	Celthak						+
			CEPITAL	<u> </u>	——————————————————————————————————————		-4		
P	F/63	lea.	11 horales	Coment 1	11. 85/211				
		77.43.	voining.	(CIMAL)	14g, 078				<del> </del>
P	E100	130mi.	Heavy 1	Vehicle Mi	lean				+
P	E101	65m1	Pick	Mileage	17ag t				<del> </del>
P	E104	63/tm.		elivery		<u> </u>		W 1000	-
ρ	15107	225sk		Spridice (	ha sa -		*	1 0000°	
P	RZOI	1en	Propert	Service (	11'- 500'		REE BEE		
<u> </u>	12701	lea,	Coment	Head Ren	+.1	<del></del>	DNI	DENT	
				THE PLAN					
									<del></del>
									<del> </del>
							$\neg \uparrow$		<del> </del>
						-		<del></del> -	
							<del> </del>	<del></del>	
							$\neg \uparrow$		
							$\neg$		
		/ /		DI	scounted	Pilce	\$ 1	5508.05	
		V = V	11 1/				+		
		////	<u> </u>			· · · · · · · · · · · · · · · · · · ·			
		NEW U	m'				-		
_									
102	14 NE Himan Ca	DO D - 001							
1024	44 NE Hiway 61 •	P.O. Box 8613	• Pratt, KS 67	124-8613 • (620)	672-1201 • Fax (	620) 672-5383		TOTAL	



# TREATMENT REPORT

Customer	fary J	r, d	Ass	ociato	s L	ease No.		<del></del>				Date			<del></del>		
Lease	pelfs	<u> </u>				Vell #		1-29	/			10	ワーノフ	1-06			
Field Order #	Statio	on .	Pra			Casing Depth						County Page State					
	57/8 _	5 1 P		low	-			<del></del>	TOTTIA	ttioi i			Le	gai Desc	3-7-18	85-10W	
	DATA		PER	FORAT			JSED			TF	TREATMENT RESUME						
Casing Size	Tubing S	ize	Shots/F	t	(i.	nti	Acid	225 sx 60/40A			œ	RATE F	PRESS		ISIP		
Depth	Depth		From		То		Pre Pa	56+3	,	Max			!	5.Min	Mn		
Volume	From			То		Pad				Min		10 Min.	2007				
Max Press	From			То		Frac				Avg				bolkstviiet.	2007		
Well Connection			From		То						HHP Used			CO	<b>ALINE</b>	esule 🖖	
Plug Depth	Packer D	epth	From		То		Flush	22B	61.		Gas Volum	ie		7	fotal Load		
Customer Rep	resentative	10 . 4		,		Station	Manage	<u>. D</u>	ive-	<u>S</u>	ott	Treater	Bo	log	Ora.	ke	
Service Units , Driver		505	457	T	31												
Names	Drake	An	itiony	Bole	?\$						<u></u> -						
Time	Casing Pressure		ubing / essure	Bbis.	Pum	ped	Rat	e		_,		S	Service Lo	og			
12:00						_			On C	<u>.oc</u>	atton	- 5civ	Fy	Mel	Hny		
12:30									Run		sy ,		,				
1:45		<u> </u>							Csy,	OV	Botto	n					
2:00									Hook	K C	10 to	Csq.	Brec	k. CI	c.w/	Ria	
2:57	100			10	<u>&gt;</u>		<u>5,c</u>		Hac		Alvea d					0	
2:59	100			54	<u>/_</u>		5,0		Mix	<u>(</u>	ement	01	4.7 #	gul	)		
3:15									Relea	۶, ς	· Plug	;					
3:16	150						5,0		Star	+	Disp.						
3:20	حدد			2	<u>ス</u>				Plug	1	<u> </u>	···				·	
<del></del>					-				Clica	e/a	Hon Led 1	Thru	· Jo	Ь	· · · · · · · · · · · · · · · · · · ·		
									Circa	. le	ted 1	one	at 4	o Fi	<u>+                                    </u>		
									Job	, 1	emplet	كو					
									Than	. K	(s, Bo	bby_		-		<del></del>	
	_																
								$\longrightarrow$			<del></del>					<del></del>	
									<del></del>			<del>-</del>				<del></del>	
							<del> </del>										
						-							···				
										_	<del></del>	·					
10244	NE Hiw	av 6	1 • P	O Bo	yΩ	613.	Pratt_	KC 6	7124-0	~ 1	0 . (620)	670-4	004		200		
				O. DU	Λ U	010	rall,	NO 0/	724-8	918	5 (620)	6/2-1	201 •	Fax (6	520) 67	2-5383	

# Samuel Gary Jr. & Associates, Inc.

1670 Broadway, Suite 3300, Denver, CO 80202 (303) 831-4673

February 1, 2007

Mr. Dave Williams
Kansas Corporation Commission
130 South Market, Room – 2078
Wichita, KS 67202

KCC FEB © 2 2007 CONFIDENTIAL

Re: Roelfs 1-24

Rice County, Kansas API# 15-159-22510-0000

Dear Dave,

Attached please find the ACO-1, Well History Description of Well and Lease, along with Geologist Report, DST's, Electric Logs, and all cementing tickets for the subject Well.

We hereby request that this ACO-1, and all data included, along with the drill cuttings sent to the Kansas Geological Survey, be held **CONFIDENTIAL FOR 2 YEARS.** 

If there are any questions, or if you need any additional information, please contact me at Samuel Gary Jr. & Associates, Inc. at the telephone number shown on the letterhead.

Sincerely,

SAMUEL GARY JR. & ASSOCIATES, INC.

Thomas G. Fertal Sr. Geologist

**Enclosures**